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Entrance Test for B.Ed. Programme 2017

September, 2017 17013
o1.US. FrEET & T vder wdham 2017
faawar, 2017
Total No. of Questions = 100 Time : 120 Minutes
FHE UTHA I HEAT = 100 T : 120 fire

The Test Booklet consists of two parts ‘A’ & ‘B’. The total number of test items will be 100 of
one mark each.

Rt gt &1 T H fae 8, o ol | when W # B e 100 & S Wk T s w

Subject No. of Marks Time
Questions 3R qwq
Wt HE

Part A
HAT A
Section 1 General English Comprehension 10 10 Composite
e | g fe sy time of
Section 1II Logical & Analytical Reasoning 20 20 two hours
TuE 11 ?ITéE S favaryomers fam T T
Section III Educational & General Awareness 25 25 [{°rA
gue 111 Afers T W= Sa
Section IV Teaching-Learning and the School 25 25
gue [V foreur-srferm we forenme
Part B * Subject Competence (any one) 20 20
U fawaTma warar (@ T )
Section V (i)  Science
LCECAY faam

(i) Mathematics

o
(iii) Social Science
grfStes fagm
(iv) English
(v) Hindi

*NOTE : Any one subject is to be attempted from Part ‘B’. If the candidate opts for more
than one subject he/she will be treated as disqualified in this Part ‘B’.

e . I 'S’ | IS Uk fawa e afg g el wnT ‘e’ ue W ol faw ¥ sew
AT A I VR T A ST wrAr SR

Read the instructions given on the OMR Response Sheet carefully before you start.

FE H F Teel OMR IHR-T W T 7w el Y eamqees wigu |
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SPACE FOR ROUGH WORK
% &1E & fau SR
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HOW TO FILL UP THE INFORMATION ON THE OMR RESPONSE 'SHEET
(EXAMINATION ANSWER SHEET)

OMR S-UF W T 4 & f=9r

1. Write your complete Enrolment No. in 9 digits. Also write your correct name, address
with Pin Code in the space provided. Put your signatures on the OMR Response Sheet
with date. Ensure that the Invigilator in your examination hall also puts his signatures
with date on the OMR Response Sheet at the space provided. You should use HB Pencil.

SO Tl THRA W (TR T=R) 9 o § fafan) Y ™ wm § s 9@ am 9 o
Elﬁ'glqﬁsﬁw‘ﬁWlOMRBﬂI—WﬂﬁFﬂE‘%ﬂWWWWIW’ﬁWW
SfifSTT foh ook wden Fw % FReF 3 OMR s0-19 W f2U ™ @ W fafy ofsq eeer
# g7 €1 s HB Yfad w1 w4 s =)

2. All information is to be filled up with HB Pencil. The circles corresponding to the digit
are to be darkened with an HB pencil.

T Y= HB et gR1 s s wfew) of R % wma g9 #1 HB e @ & Fn e

3. Do not make any stray remarks on this OMR Response Sheet.

T8 OMR SWR-T4 W %3 s@ifea fewfori o fem w&f smmeu)

4. Write correct information in numerical digit in Enrolment No. and Examination Centre
Code columns. The corresponding circles should be dark enough and should be filled in
completely.

THHET W AR when F= Hs a0t Fiemi F okl § wd gEw fafaw | w9 99 wate
BH =feT ok T T ¥ W g & =Ry

5. Each question is followed by four (or less) probable answers, which are numbered 1, 2,3
and 4. You should select and show only one answer to each question considered by you
as the most appropriate or the correct answer. Select the most appropriate answer. Then
by using HB pencil, blacken the circle bearing the correct answer number against the
serial number of the question. If you find that the answer to any question is none of the
four alternatives given under the question, you should darken the circle ‘0.
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oI T ¥ 9 9R (A FH) guiad SR ¥ S 1, 2, 3 991 4 g fref fmE W E ) v
7% ¥ fT AUl HUd TF W TACTW HTh TR w1 Afeq 8 omd Feifus 3fEa A
T8 TR TR ¥ weifuw Suge I 9fTe) aevE HB 9w % WM gR W % HEiE
T TR I WEn a9 gu B e Fife) At o u ¥ fF owe & e el =w fawed
F Y e off 9ff SR T & A SR g9 0’ 1 FHEN HET e

6. If you wish to change your answer, ERASE completely the already darkened circle by
using a good quality eraser and then blacken the circle bearing your revised answer
number. If incorrect answer is not erased completely, smudges will be left on the erased
circle and the question will be read as having two answers and will be ignored for

giving any credit.

aft T fFd SR F FEeA 91, A RS ¥ & Fel Y g9 F TE TS [UE A WA
@Wﬁaﬁﬁqaﬂiﬁsﬁf%wmaﬁ%aﬁwmmﬁwwﬁWﬂw
T faern w, @ fed T g9 § o fm w SEW ol vw ¥ D Swfed g W s
3R siw fira o9g 9% STEeR T S|

7. No credit will be given if more than one answer is given for one question. Therefore, you

should select the most appropriate answer.
ofz TF U F T UF § fuE S e Smm @ o o A fed wnh ) e e
waifus 3fad W &1 997 FE =6

8. You should not spend too much time on any one question. If you find any particular
question difficult, leave it and go to the next. If you have time left after answering all the

questions, you may go back to the unanswered ones.

fireht T Y Wy o A€ o) afg st g fafw e wied @ € a1 s
Brew TR W WY R G F W I F G AT ATH IH FHI ¥, A Y I 9 W
a1 geha ¥ fowe o s T fea R
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9.  Only one subject is to be attempted from PART ‘B’.
UIT 'S’ W hae T @ fawg s ¥

You will attempt the questions as under :

3l J9 FreEr w3 €

Sl. No. Subject No. of Questions

wHH ferwar ra e iicol

(1) Science Q. Nos. 81 to 100
famm Y §eA 81 ¥ 100

(ii) Mathematics Q. Nos. 101 to 120
Tfora T "' 101 | 120

(iii) Social Science Q. Nos. 121 to 140
it fagm T HEA 121 § 140

(iv) English Q. Nos. 141 to 160
3ot T g 141 § 160

v) Hindi Q. Nos. 161 to 180
&=t Y W= 161 | 180
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GENERAL INSTRUCTIONS

= e

1.  No cell phones, calculators, books, slide-rules, note-books or written notes, etc. will be

allowed inside the examination hall.

e el F R FE A BE, FoFael, THH, WRe-w9, Ae-gF a1 fafEa [, s
a H sgafa T& R

2. You should follow the instructions given by the Centre Superintendent and by the
Invigilator at the examination venue. If you violate the instructions you will be
disqualified.

Ten @ W AT g afie iR e gE e R w0 arer wen @) Af] e
% Fidell 1 Seofo w1 IR ST wftd o AT

3.  Any candidate found copying or receiving or giving assistance in the examination will be
disqualified.
Then # afe F1F Thenel TFA FW@ T A WEIA 24 gL T T FIQ L G T A SH
e Efa T S

4. The Test Booklet and the OMR Response Sheet (Answer Sheet) would be supplied to you
by the Invigilators. After the examination is over, you should hand over the OMR
Response Sheet to the Invigilator before leaving the examination hall. Any candidate who
does not return the OMR Response Sheet will be disqualified and the University may take

further action against him/her.

Ao FrierRl g0 Than giee i OMR SW-T3 fed ST | wdan & wa« B R glen e
el ¥ TEd SHl OMR STR-US Friers w1 |y 3 =ifeq) S qhene o774 OMR
IR TR A 3W e wifva e s ol fawafaae e faws s SR
FHAT|

5.  All rough work is to be done on the Test Booklet itself and not on any other paper. Scrap
paper is not permitted. For arriving at answers you may work in the margins, make

some markings or underline in the Test Booklet itself.

gt TF wR Then qREs | @ R S ok R s we W A | HS % R S
TS ) oTfa A8 81 S o Tge & o S whan gRaen # WSl § FH F, F9
from o = S9Y Y@ifed W HOSAN 2
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6.  The University reserves the right to cancel scores of any candidate who impersonates or
uses/adopts other malpractices or uses any unfair means. The examination is conducted
under uniform conditions. The University would also follow a procedure to verify the
validity of scores of all examinees uniformly. If there is substantial indication that your
performance is not genuine, the University may cancel your score.

forafommera foret W wlenefl & e fre #T &1 sfusR W@t & S ogwE uRe wE
€ A R I GUER S § A FA KA € AW A WHA G R €1 e T
feafeal o srefn wenfer =6t 1 & )1 Favafaemem wft wdanfidl % g w5 wa HEER
w9 @ SivH T fwefafy sremeh ) aft vata §%a & 5 snuw e srweh 79 2 Q@)
favafarmem smos grais e wT gt 2

7. Candidates should bring their hall tickets duly issued by the Registrar. In the event of
your qualifying the Entrance Test, this hall ticket should be enclosed with your admission
form while submitting it to the University for seeking admission in B.Ed. Programme
along with your testimonials and programme fee. Admission forms received without hall
ticket in original will be summarily rejected.

Tt w1 Fo W g WK R T e fome o =few) Aty e gaw wden § Ay
ﬁlﬁﬁﬁﬁ&aﬁ%ﬁhﬁ.@.wﬁaﬂﬁm%@ﬁﬁaﬁaﬁaﬁmﬁm—wamwéﬁ
gqaﬂqaﬁmw#mawmﬁmﬁaﬁwmmmﬁmmﬁm%'m
fohz & wra ford SN SR @ 9 W e = R wEm
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PART - A
SECTION - I GENERAL ENGLISH COMPREHENSION

Directions : Read the following passage carefully and choose the best answer out of the four choices
given after each question that follows.

White cement is the basic raw material for producing cement tiles and cement paint
which are used extensively in building construction. The main consumers of white cement
are, therefore, cement tile and cement paint manufacturing units. These consumers, mostly
in the small scale sector, are today facing a major crisis because of a significant increase in
the price of white cement during a short period. The present annual licensed production
capacity of white and grey cement in the country is approximately 3.5 lakh tonnes. The
average demand is 2-2.5 tonnes. This means that there is idle capacity to the tune of one lakh
tonnes or more. The price rise is, therefore, not a phenomenon arising out of inadequate
production capacity but evidently because of artificial scarcity created by the manufacturers
in their self-interest.

The main reason for the continuing spurt in cement price is its decontrol. As it is, there
is stiff competition in the cement paint and tile manufacturing business. Any further price
revision at this stage is bound to have a severe adverse impact on the market conditions. The
Government should take adequate steps to ensure that suitable controls are brought in. Else
it should allow import of cement.

1.  Why is the price of white cement going up ?
(1) Because the government is controlling the quota.

(2) Because of export of white cement.
(3) Because of the large usage of white cement.
(4) None of the above

2. Which of the following statements is false according to the passage ?

(1)  Price rise in white cement would increase the price of cement paint.

(2) White cement is a controlled product.
(3) Increase in price of white cement is not because of production problem.
(4) Price rise in white cement would upset cement tile market.

3.  What is the crisis being faced by the cement tile manufacturers as described in the passage ?
(1) White cement is priced very low. (2) White cement is not of good quality.
(3) White cement usage is high. (4) White cement prices are very high.

4.  Which of the following words has the same meaning as the word ‘idle’ as used in the
passage ?
(1) Lazy (2) Clumsy (3) Large (4) Excess
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YAT-37
Qe -1 : 9y &t sy
A3t : ﬁmﬁ@am@#wﬁ@ﬁvmﬁ@ww%ﬂﬁ#wfwmgﬁq/

v Fmion & srefuer waim 2 el Wie-arel ik @de-te % fmfu % fag T d@ie
STUR Yd %=l Imoft ¥ safee wihg Hide & e suvie 9 ord ok Wiz 32 =5t fafmio
THIEE § 1 A 3usiiE S sifvewivia: B TR ¥ A A ¥ 1 vl § @ iz 5 FiwE § sty
IS % FRU Fhe H WA F W@ T 39 F W i W Hie B adur o arede-m
SCARH T 3.5 @ < § 3R g0ant i |a Wi 2-2.5 24 ¥ TH Haeldl T 1@ < 41 399
SAfereh e SAfafiert &mar } 1 o7a: HiHa 8 gfig SToate S &7l % R 3o B arelt e
T wfeeh fafmiar gro ot fea § g #1 7€ femmad w0t &)

Hide i wiva # Fe @ gfs &1 5o wRo sue e &1 dife-ame sin etz
fafmin sremme & w3 sfaeaat ot €1 ww feafa § o Fodi 31 gifm F0 Y TER-fefE w@
TR iRt T U W € | TR Y SR el ghfvaa s 3 o et sen sem e
31N 39 Hide % T Wi ST o =i

1. U%g e &l S o) oe W §?
(1) iR WHR e % Fie (Frmin) = Frifm = @ ¥
(2) 9w F fafa & wro
(3) H¥g HiHe w1 Jgard § WA 89 ¥ HRIT|
(4) SwdF ¥ R 76

2. TV % FYER Frafafas § @ w5 @ wu w@ @ Y

(1) = dife % Fidi ¥ agrd § e Sz 9w § 9fg )

(2) W% W frefE sar §

(3) e Wz N Fiva ¥ gy Scaeq wHen F FRo T &

(4) T HiH2 H T ToM § Wi T F TER TS ST |

3. W H afvfq % srguR @i oge fafmiar frg 9 w1 M ae @ ¥
(1) "hcdie R Fmaaga FARI - (2) e G gt garferet o T ¥
(3) whg FiHe & A wga fuE ¥ (4) W Wiz W H wgd s ¥

4. frafafes & § sF-w v @i & vy sifafea wss & aumef £ 2
(1) s 2 I« (3) = (4) erafa®
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5.  Which of the following is cotrect according to the passage ?
(1)  White cement is not used in the manufacture of paint.
(2)  White cement forms a minor part of tile manufacturing.
(3) White cement is very important for tile manufacturing.
(4) White cement is used only for making paints.
6.  Which of the following words has the same meaning as the word ‘artificial’ as used in the
passage ?
(1)  Unnatural (2) Prolonged (3) Deliberate (4) Practical
7. What is the author’s suggestion to bring down prices ?
(1)  Government should control the white cement market.
(2)  Production capacity should be increased.
(3) Usage of white cement in other areas should be reduced.
(4) Competition among manufactures of cement paints and tiles should be reduced.
8.  Which of the following words has the opposite meaning as the word ‘basic’ as used in the
passage ?
(1) Vital (2) Unimportant  (3) Acidic (4) Last
9. Which of the following is correct according to the passage ?
(1)  Cement production capacity is more than usage.
(2) Cement production capacity is less than usage.
(3) Cement production capacity is equal to usage.
(4) Cement production capacity is twice than usage.
10. What can be presumed from the passage regarding foreign trade in cement ?
(1)  The country is exporting cement at present.
(2} The country is importing cement at present.
(3)  The country is exporting and importing cement at present.
(4) The country is neither exporting nor importing cement at present.
B.Ed./2017 10

@collegedunias

India’s largest Student Review Platform
~



10.

TEIN o AR Frefafad § @ sH-w wd ¥2
(1) Yo fafmio & wihe @idz 1 yam T&F @)

) W e e fafmio o oy amr §)

(3) e fmio o foe g wide stefd weeegof §1

(4) Whe Wbz F WA FHaa Y2 990 F forw A

frefafad § § sR-1 v T@iv & yge  frmed)’ vise o gnet 2

(1) TITHfas (2) e (3) SI-S[FHT (4) =ERRE

HHd S FA F 1T AEH 1 R g § 2
(1) WHR 61 Fhe HiHe IR RV fHE50 2 Ttz
(2) SR &HAT I T Hl TIfET |
3) 3T &Sl § WG HiHE % YN W) e & 9ifEu |
) HiHe Y2 iR ezl ¥ fafmimel % st %t whrfa w1 w5 wen k)

—_—~

(4

frefafad @ - v T § aftfa ‘SR v @1 fradaneds 2
(1) wia (2) SHEYU () = (4) oifm

TR o ATER Frefafad § § w-w wd ¥ 2
(1) Hie SR &Har SHF TGN &1 qor | e £
(2) ©IHE ST A IHF UGN I o H HH |
(3) EIHZ IS &HaT IHF STENT F TR T
(4) EHE SR & SHH ITANT T o | T &)

Hie & ool # =R & Tely § T | 0 ST I S e & 2
1) od9H § 9 wide 1 fla s w

A H S HHE AT 3T @R

I § 39 Hide 1 3 o Frafa 9 9 @

T W I HiHE A A AR IR @ E iR 7 frta

~~

2

~~

)
)
(3)
(4)
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11.

12.

13.

14.

15.

PART-A
SECTION-II : LOGICAL AND ANALYTICAL REASONING

Directions (Q.Nos. 11 - 14) :
Study the following information carefully and answer the questions that follow.

There are six members M, N, O, P, Q and R in a family. There are two married couples in
family ; N is the businessman and father of Q ; R is the grandfather of O ; and is a property
dealer ; P is the grandmother of Q and is a housewife ; O is daughter of M ; There are one
businessman, one property dealer, one lady lecturer and two students in the family.

Who is father in law of M ?
1 pr (2) R 3) N 4 O

What is the profession of M ?
(1) Housewife (2) Student (3) Lecturer (4) Property dealer

Who is sister of Q ?
1y ©O (2) P 3 M 4) N

Which of the following are two married couples ?
(1) MO and QR (2) MN and PR (3) PR and OQ (4) MNand QR

Find the missing number :

3 8 9
7 10 4 6 5 4
(1) 46 2) 32 (3) 20 4) 16

Directions (Q.Nos. 16 - 19) :

In the following questions a series is being given select from the alternatives the correct term to fill in
the missing term.

16. 7,21,43, 2,111,157, 211
1) 73 @ 71 3) 75 4) 77
B.Ed./2017 12
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HT-37
@ug - 11 : difeheh Ua faversoneres fae

fdor (v @ET11-14 ) -
freferfiga SRt &1 &7 8 98 U9 130 7Y 399 % S ]
TF IREIR A M, N, O, P, QIR B: T ¥ | WRaR & & wrdiger S §1 N U =Ia@rit & a9 Q

HI U1 R, OH =1 R a2 Mo SR } 1 P, Qt gt R sl ws qfevit 31 O, M# 32 §1 wRaw
T T HIErRH, T W9 Sier, T Hieen yaear aon 2 faenef §1

11. MH TR A §?

(1) P (2) R G) N 4) O
12. M % = Zaqd ¢ ?

(1) Tfeoit (2) Toremeit (3) e (4) TR SR
13. Q! Fed HIA-R?

(1) O @ P 3 M “4) N
14. FEA AR 2 TR AT E?

(1) MOTWE QR (2) MN TE PR 3) PRTEOQ (4) MNTE QR
15. faq@ 9@ 3@ wiN

3 8 9

7 10 4 6 5 4

(1) 46 2) 32 (3) 20 @) 16

AT : (997 TEAr16-19) :

feifefed 9o 4 Q& o7 #9 81 7T 7Y fa%eql 4 @ ‘fage s’ 717 HHw)
16. 7,21,43, _2 111, 157, 211

1) 73 2 71 3) 75 @) 77
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17. 6,24,60, 114,186, _ 2
(1) 276 (2) 290 3y 272 (4) 280
18. 7,13,21,31,43, 2
(1) 53 (2) 55 (3) 57 4) 59
19. 3,15,35,63, _ 2
(1) 69 (2) 79 (3) 89 4) 99
20. If PUZZLE is coded as LEPUZZ, then MENTAL will be coded as :
(1) ZZOPEM (2) ZENSOM (3) ALMENT (4) MOSNET
21. If CONFRONTATION is coded as 5931793484693, then TORONTO will be coded as :
(1) 4797347 (2) 4393743 (3) 4898348 (4) 4979349
22.  Which pair is different in some way from the others in the following ?
(1) Town - Shandy (2) Village-Mall (3) City - Market (4) Arcade - Shop
Directions (Q.Nos. 23 to 26) :
Read the paragraph and answer the questions that follow.
Geeta, Sita, Promila, Bhavana and Nafisa are five friends. Each one of has six balls : Gita
gives 3 balls to Nafisa who gives 4 balls to Promila. Bhavana gives 2 balls to Sita who gives
3 balls to Geeta. Promila gives 4 balls to Bhavana who gives 2 balls each to Nafisa and Geeta.
23. How many balls does Nafisa have ?
1) 4 2) 5 G) 6 @4 7
24. How many balls does Sita have ?
1) 4 2 5 (3) 6 @4 7
B.Ed./2017 14
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17.

6, 24, 60, 114, 186, __ 2

(1) 276 2) 290 (B) 272 4) 280
18. 7,13,21,31,43, 7
1) 53 2) 55 (3) 57 @) 59
19. 3,15,35,63, 2
(1) 69 2 79 3) 89 @) 99
20. A PUZZLE %1 %2 LEPUZZ § @& MENTAL 1 %2 81T :
(1) ZZOPEM (2) ZENSOM (3) ALMENT (4) MOSNET
21. CONFRONTATION I 2 5931793484693 & @ TORONTO &I < BFT :
(1) 4797347 (2) 4393743 (3) 4898348 4) 4979349
22. HF-91 g I Q fordl Tk voR @ Rm 2
(1) wHear-HeEt (2) TiE-HiA () TR-The (4) oMHe-gHFE
fE9r (997 9&mm23 926 ) ;
frefrfad @ve #1 9ga 3T 18 g5 3% I ST
T, Fie, e, Wi iR Twi o s ¥ 1 g s (6) 1§ 1 Mar ¥ 392w @ <
e 4 7€ yen | 1 e 3 S W Far R G R 3 W a2 ) vl 347 g
g fgm 2-2 e Twren o har 1 R &)
23.  THIE % Iy fpa v §2
1) 4 2) 5 B) 6 @) 7
24. A % g fepat 7 €2
1) 4 2 5 B) 6 @) 7
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25. Who has the minimum number of balls ?
(1) Bhavana (2) Nafisa (3) Sita (4) Promila
26. Who has the maximum number of balls ?
(1) Promila (2) Nafisa (3) Sita (4) Geeta
Directions (Q.Nos. 27 - 30) :
Read the paragraph and answer the questions that follow.
A and B play Cricket and Hockey, B and D play Tennis, A and C play Volley-Ball and
Tennis, C and D and E play Football.
27.  Who plays Cricket, Hockey and Volley-ball ?
1 A (2 B @ C 4y D
28. Who plays only Football ?
1) A 2 B G D (4) E
29. Who plays Tennis and Football ?
1 A 2 B @ C 4 D
30. Who plays Volley-ball and Football ?
1) A 2) B G C (4 D
B.Ed./2017 16
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25.

26.

27.

28.

29,

30.

fFgs I Tad w9 1 § 2

39T (w97 9@ 27 - 30 ) -

frefeiiaa @e ug aor faw v 399 & IR &1

A1 B fshehe Ud gl @ €1 B 991 D W Weld §1 A 99 C afeiiata us 2 @ed §1 C e

D 91 E Feaict Terd ¥ |

FI fshohe, Blen! T aichiate Gorar &2

H I T el Gerd § 2

1) A 2) B

HIA Alcare 9o Falel Gerd 2

1 A (2) B
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PART-A
SECTION - III : EDUCATIONAL AND GENERAL AWARENESS

31. World Population day is celebrated on :
(1) 19 July (2) 11 July (3) 15 July (4) 17 July
32. Gandhiji made a dramatic bid for temple entry rights for untouchables in the year :
(1) 1940 (2) 1935 (3) 1930 (4) 1920
33. National Repository of Open Educational Resources (NROER) is being managed by :
(1) IGNOU (2) NCERT
(3) UGC (4) NUEPA
34. Who was the Editor of the Revolutionary Paper ‘Bande Matram’ ?
(1) Shyamji Krishan Verma (2) Bhikaji Cama
(3) V. D. Sarvarkar (4) G. D. Sarvarkar
35. How many Nations had signed the charter of United Nations on 26 June 1945 ?
(1) 64 (2) o1 (3) 52 (4) 51
36. Who among the following has termed Indian Federalism as “Co - Operative Federalism” ?
(1) K.C. Wheare  (2) Morris Jones (3) Granville Austin (4) Jennings
37. B}lfl which year, the Union Cabinet on June 17, 2015 has proposed to provide ‘Housing for
All' ?
(1) 2030 (2) 2025 (3) 2022 (4) 2018
38. Which country topped the Global Innovation index (GIL) 2015 that was released on
17 Sep, 2015 ?
(1) Switzerland (2) United Kingdom
(3) Sweden (4) The Netherlands
39. The United Nations Children’s Fund (UNICEF) is head quartered in :
(1) Paris (France) (2) Vienna (Austria)
(3) New York City (USA) (4) Brussels (Belgium)
B.Ed./2017 18
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RT3
TUS - [11 : NieTeh T [ =eT

31. fava smEEn feag wamn s @

(1) 19 e (2) 11w (3) 15 Yo (4) 17 I
32. TEISH A STgAl F Gi H yaw ¥ R ¥ o Aewt v fwan

(1) 1940 ¥ (2) 1935 H (3) 1930 H (4) 19207
33. e Yaifors FEEA % T HIW (NROER) 1 Yauq frm @1 8

(1) ¥1sW 2) TAHIIRE. g

(3) F S R (4) =mswm
34. 'S UEA' THE FHIf<HR U P HUGH B I ?

(1) STt Foor g|i (2) TSt HE

(3) .. AR (4) e aRaEER
35. 26 A, 1945 ! fohas W ¥ HYFRRE TOMTS W TR B

1) 64 ) 61 (3) 52 (4) 51
36. =1 # 9 formm ' vRdr deaR’’ & wesr Heare ! wEl ?

(1) wHL R () wiRE g (3) THfaw sfes ) S
37. 17 S, 2015 1 ULF HEHIRES 3 ‘Gt & W' a9 ST HIAT TEIfad fwma ?

(1) 2030 2) 2025 (3) 2022 (4) 2018
38. 17 faaww, 2015 #1 S Sf¥aw Ta=R gIHi® (GIL) 2015 § S § 397 T s g fman?

(1) wisRAs (2) IReE fdhreH

(3) wrea 4) s
39. WIH T 1A FR (FANEF) H G feora ¢

(1) " (W) () fagm (enfea)

(3) vk fadt (smaf) (4) oew (SfewEm)
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40. Which city is hosting the 2016 Olympic games ?
(1) Seoul (2) Barcelona
(3) Rio - De - Janerio (4) Los Angeles
41. The main objective of ‘Sakshar Bharat’ is :
(1) to promote ‘education for all’ (2) to promote adult education
(3) to promote vocational education (4) to promote education for women
42. Under which article of the Constitution the President of India has been empowered to
promulgate ordinance ?
(1) Article 356 (2) Article 360 (3)  Article 200 (4) Article 123
43. Right to Education Act, 2009 is mainly concerned with :
(1) Higher Education (2) Elementary Education
(3) Secondary Education (4) Higher Secondary Education
44. Who is the author of the Book ‘Fundamentsl Unity of India’ ?
(1) Radhakumud Mukherji (2) Jawabarlal Nehru
(3) Rajani Kothari (4) Max Weber
45. In which year state reorganisation commission gave its report on the basis of language ?
(1) 1953 (2) 1954 (3) 1955 (4) 1956
46. According to United Nations Report released in July 2015, which of the following countries
will become the world’s most populous country by 2022 ?
(1) India (2) China (3) Pakistan (4) Bangladesh
47. During September 2015, which of the following countries has published first report written
by a ‘robot journalist’ ?
(1) Japan (2) China (3) Germany (4) Switzerland
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40. 2016 % 3 O P TREA D W E?
1) feaa (2) STt
@) fa-z-faafar (4) <9 Tfied
41. 'HIER-vRA' & T A § 7
(1) ‘Wit & foe foren’ w1 g (2) viefnat =i WA
(3) HIEIge f¥e o Heared (4) wfeenedi ot e+ e
42. dfaym #i ffw 90 F SFTTUR, WLafa @l SR SR S & TR ¥ 2
(1) X356 (2) R 360 (3) HRI 200 (4) 9123
43. Toan =1 sfyer stfufm, 2009 gee: awfm § -
(1) 3= foan (2) wnafhes foan
(3) WAt e (4) AR AreAtHE fen
44, ‘'vhemicd IRl ATE A’ THw F 9E® © ¢
(1) TR st (2) T e
(3) T HE (4) F9H IR
45. ST % STYR T GIISA ST 5 3191 Higeed T oy fean ?
(1) 1953 (2) 1954 (3) 1955 (4) 1956
46. SIS, 2015 H SR g U 61 RO & S OR 2022 7 fava ¥ waifus SEEAmEren a9 8 ?
(1) w9 (2 =H (3) e (4) SR
47. faaay, 2015 % T ‘UEe TER gR foat geen ol e Su § yeniivm g4t ?
(1) <A (2) =H (3) <R (4) e
B.Ed./2017 21 P.T.O.

L
gcollegedunlas
India’s largest Student Review Platform



48. Where did Madam Cama hoist the first tricolour Flag in 1907 ?
(1) London (2) Paris (3) Moscow (4) Stuttgart
49. Which committee/commission gave its specific recommendations to improve the conditions
of Teacher Education in India ?
(1) Hansa Mehta Committee (2) Radha Krishnan Commissijon
(3) Justice Verma Commission (4) National Knowledge Commission
50. “IEDSS” stands for :
(1) International Education for Disadvantaged at Social Stage
(2) Integrated Education for Disabled at Secondary Stage
(3) Inclusive Education for Disadvantaged at Secondary Stage
(4) Inclusive Education for Disabled at Secondary Stage
51. Who among the following shall preside over the joint sitting at two houses of Parliament ?
(1) President (2)  Prime - Minister
(3) Chairman of Rajya Sabha (4) Speaker of Lok Sabha
52. Which article of the Constitution defines the duties of Chief Minister ?
(1) 162 (2) 164 (3) 165 4) 167
53. Light from the Sun reaches earth in :
(1) 8 minutes (2) 2 minutes (3) 6 minutes (4) 4 minutes
54. Which one of the following was the last step in the Gandhian strategy of Satyagraha ?
(1) Boy - Cott (2) Picketing (3) Fast (4) Strike
55. Finances are distributed between the centre and the state on the recommendation of :
(1) Planning Commission (2) Public Accounts Committee
(3) Finance Commission (4) National Development Council
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48.

49.

50.

51.

52.

53.

54.

55.

1907 ® FeH HT1 7 Fel Yeehar fan eeqan a1 ?
1) @&=a 2 fE (3) HiEn (4) WM

2

A ¥ e foan & gur &g fea wfufa/ smam 3 fafere gfaaes fea €2
(1) & dear wfufa (2) T FWE AR
(3) =arayfd et smEm (4) UE FE SEm

“IEDSS” 1 foreqa &9 #
(1) T TheE BR ferueaeg @ dee
(2) FEUTS TYHIA R feuusae w2 AHsll =
)
)

(3) TRIHE TR R feaugaresg @ @l ©

THRI[Ta TRy HR fequese @ Y%l B

(4

TEE & ST WAl & HIFT T i ST DI FIAT € 2
(1) usgyfa (2) TUEHH

Py

(3) TTEW A (4) G Ay

dfaum = :E-9 a1 gEmst % wdal w1 g i € ?
(1) 91 162 (2) =0 164 (3) U 165 (4) R 167

T4 | et T YR g § 2
1) sfged (2) 2fFed (3) e6fwed (4) 4fed

e ot weawE i | Afam e o ?
(1) wfgshr (2) =& (@) wa (4) wd

&g T T F o9 ford &1 JearT fohdent e W g 82
(1) 3 eI (2) <M @ afafa
@) T smm 4) UL faem afieg
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PART-A
SECTION-IV : TEACHING-LEARNING AND THE SCHOOL

56. Determining the aim of education is the responsibility of :
(1) Parents (2) Teachers (3) Students (4) Society
57. The schools through its programmes help students to :
(1) Assimilate culture (2) Protest culture
(3) Ignore other cultures (4) Make them cultured
58. To make all students interested in home work , it should be :
(1) Of equal level (2)  According to the ability of student
(3) Only from the book (4) Out of the book
59. Navodaya schools has been established to :
(1) Increase number of schools in rural areas
(2) Provide good education in rural areas
(3) Complete “Sarva Shiksha Abhiyan”
(4) Check wastage of education in rural areas
60. The most important quality of an effective teacher is :
(1) Deep Knowledge about the subject taught
(2) A strict disciplinarian
(3) Good rap port with the students
(4) A good motivator
61. The idea of basic education was propounded by :
(1) Dr. Zakir Hussain (2) Dr. Rajendra Prasad
(3) Mahatma Gandhi (4) Rabindra Nath Tagore
62. Individual attention is important in Teaching - learning process because :
(1) Learners always learn better in group
(2) Teacher training programmes prescribed it
(3) It offers better opportunities to teachers to discipline each learner
(4) Children develop at different rates and learn differently
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HT-3A
Qug -1V : foreror-sifirm we faamea
56. fen & el @1 Freiw qfra ®
(1) fuwEsl &1 (2)  STEATIRI (3) Taenfui (4) |HEN w

57. fomnera ST wRiRHT & werEd | faenfdal 5t meg e ¥
(1) E&pld U A d () Hwpfa w1 foiy w0 o
(3) 3T AEpfaal +I SURT HA H (4) % Il g FE H

58. qft fueniEl =t e ¥ wf S w0 ¥ fog, 3 9 =i

(1) TH 9HE S F | (2) TasnRiA 1 drga ¥ ER |
(3) Fod TH H F1 4) TKF F TR 9|
59. ey foamer™i #t T w5t T ® % feru |

(1) 7o & H foremerdi @ W s e |
(2) T A A =St e weE W & faw)
(3) G faan sfEm =t gfd ¥

@) aHw & H e H otgera T 1

60. TF g Fiereh it Tureran 1 Hel Heegul o
(1) 9T S fawg =1 &= IH
(2) U H& SREH
(3) Taanfal % @iy oT=w1 wwag
(4) TF 3T YTH B

61. ‘afiaen faan’ &t uron o gfaures e T
(1) <. fet 589 g (2) & TSE YEIE gNT |
(3) eI T R 4) o= TR gRI

62. Taro-stfemm wfshan # safaama e aeeqel € w=ife
(1) e wqg & 0w o1t diEm ¥
(2)  STeATIE wivaor HRIEHT g1 TE we T
(3) THH ARl g Y fHenel i g 3 = o= i wem an ¥
4) ekl o fae fum-fist < @ g € ol Re-fs wom @ drad §1
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63. If a child writes with his/her left hand and is comfortable doing things with it, she/he should
be :

(1) Discouraged

(2) Made to write with left hand
(3) Allowed his preference

(4) Sent to seek medical help

64. Which of the following statements is true about “Learning” ?
(1)  Errors made by children indicate that no learning has taken place

(2) Learning is effective in an environment that is emotionally positive and satisfying
for learners

(3) Learning is not affected by emotional factors at any stage of learning

(4) Learning is fundamentally a mental activity

65. It is advantage of giving home work that students :
(1) Remain busy at home
(2) Study at home
(3) May be checked for their progress
(4) May develop habit of self study

66. A field trip is arranged for :
(1) Making an excursion (2)  See other people doing things
(3) Note the meaning of action (4)  All of the above

67. Students are passive in :
(1) Project method (2) Discovery method

(3) Lecture method (4) Inquiry method

68. Demonstration effect means :

(1)  Effect of advertisement (2) Imitating effect of consumption
(3)  Effect of entertainment {(4) Effect of an experiment
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63.

e HE T ol Ty A FFEm SRR P FE A gEE, A4 ¢
(1) EdrcTied T =Iey |

2) = e ¥ forger =few )

3) ! WA S AT < =feT)

(
(
(4) Tafrce gema a1 ¥ 9SS =R

64. 3ifarm & fawa & fre # | -9 Fue W@ 2?2
(1) == gR Tt wE g § fE #E erfuma 7 gam @
(2) et St e  gererened & S fanfa % fa damers whrieTh R S g
FH el &
(3)  iferrm, sifepma % feRet oft WR R HoTioTeh HRehi @ eI T |
(4) SIRETH e[ ¥4 § TH AHiaE Tty 3
65. T i A H AN IT ¥ T Fonameff |
(1) MRIAA TSI
2) TRWIG 2
(3) ST TEH! Tl e haT S Heh |
(4) TSI W 3Td fahiad & ¥
66. T & YHU H SESH foran < ©
(1) TH y80 e (2) 3T GRSl FE F g @A o
OERERIEIE LIS LR 4) I qdt
67. Toenefigmane:
1) e fafy ¥ ) E fafyd
@) = fafa (4) wETeTE (stamu) fafy
68. TSI guIa w1 A B
(1) o = g9 (2) SHERT Fi Thel H FWE
(3) HARSH I YW (4) TEN H GNE
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69. Dyslexiaisa:
(1)  Physical disability in which the ability to write is affected by dysfunctional fingers
(2) Form of reading disability linked with weak vision
(3)  Learning difficulty to read fluently and with accurate comprehension despite average
inteiligence
(4) Language based learning difficulty associated with impaired hearing
70. If you find a student wearing some odd dress in your class, you will :
(1)  Ask the student not to attend the ciass
(2) Make a joke on him
(3) Counsel him not to wear such clothes in a class
(4) Not pay any attention
- 71. Some students are backward in studies. What will be your attitude towards, them :
(1) Harsh (2) Sympathetic (3) Liberal (4) Lovable
72. Play therapy is adopted in the study of children in order to :
(1) Make the educational process joyful
(2) To understand the inner motives and complexes of children
(3) Make education more activity centred
(4) Highlight the importance of play activities in education
73. The best remedy of the student’s problems related with learning is :
(1) Suggestion for hard work (2) Supervised study in library
(3) Suggestion for private tuition (4) Diagnostic teaching
74. In a democratic country like India, schools should concentrate on :
(1) Development of traits to face the hurdles of daily life
(2) Development of traits of a good citizenship
(3) Preparation for academic excellence
(4) Inculcation of values cherished by country
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69.

70.

71.

72.

73.

74.

fematfrman €

(1) WRe e foad stem Sfadi @ forem ot drgan gefaa &t 81
) W fEE 7 | gafod g i St 1 YER |

(3) WHR Y (Sfg) & FENgE g Ifa T e SO § ged | wied )
(4) OO Y ¥ TS 9T S i e |

It sroet e H fepedt forenedt 1 @we w92 vg U9 & @ o w4 -
(1) Toraneff =1 e | ufeua 7 w@A & wEN |

) SR HIH IS |

(3) SHE! e H WY HUL T e H fog wt $
(4) HH IR = T

Fo foeneli sremem § fuse €1 ST IR 3T W K\ @MW ?
(1) SR (2) Tl (3) S (4) wm

A f TRl o TeEd H SISt § iR
(1) s gishan TARSE I9H ¥

(2) TS H SN TAA T A<GE GG 3
(@) fToan =i sifves nfafafy smeafa s9m 3g

(4) foen H @@ fafafedi & Hed P IR FH ¥

siferTy gl foenfyal o1 Tremst] &1 qad TSt aHYE §
(1) SR afism o1 g ) Tk ® fRfea seem
(B) AR SRE & gaE (4) fTrerTeT® steaaR

RA S Srepar-=ek 3 ¥, foremerdl o wam 2 e

(1) SAfRTTd SaT § HfcTRal 1 9w & % fag 7o fawfaa +3 §
(2) Tk I AN & 0 fowfaa w0 &

@) e oEw ot T w9 §

4) <9 gN NfYa fafim qoa fawme d
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75. It can safely be assumed that a student understands a principle when He/She can :
(1) Give more examples of it
(2)  Use it in solving problems to which it applies
(3) Recognise it again when He/She encounters it again
(4) Recall the principles as and when asked
76. Despite of your requests as an incharge of time table in the school, A teacher always comes
late. In this situation, you will :
(1) Insult him in the presence of other teachers
(2) Advise him to come in time
(3) Report to the principal
(4) Remain indifferent to it
77. Every learner is unique means that :
(1) No two learners are alike in their abilities, interests and talents
(2) Learners do not have any common qualities, nor do they share common goals
(3) A common curriculum for all learners is not possible
(4) It is impossible to develop the potentials of learners in a heterogeneous class
78. The in - service teacher training can be made more effective by :
(1)  Using training package which is well prepared in advance
(2) Making it residential programme
(3) Using co-operative approach
(4) Practicing training follow - up procedures
79. In NCTE - the B.Ed curriculum frame work -2014 which of the following is emphasised
in education.
(1) 1T (Information Technology)
(2) ICT (Information and Communication Technology)
(3) ET (Educational Technology)
(4) CT (Communication Technology)
80. How many senses a person uses while watching a film ?
1 1 (2 2 3 3 4) 4
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75.

76.

77.

78.

79.

80.

T T T H A S HRAT ¢ TR ok fnenedt frm e/ guet € ofz 9w
(1) 38 3R 3T < 9|

(2) TS THEme % SHEE | 9 AT € Wehdl § S9Y I9ET Y|

(3) TH Y7: TEEN U A 9% R W wa

(4) 9 Y31 9§ e @6 g A wuE

ST T WO % Frefemes a9 % T0 39k g F1ae % a1e9g TF R w99 3 S o 3
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(3) FUMIEATH I Ghaa HA |

(@) HY 9@ Wi |
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(2) Toenfei 4 = € 1 wam o AR € 9@ 9 g9E wed T w9 ¥
(3) @t frenfiEl & fo we Tum wereat e T 2

(4)

—

4) U fiprar areh wen o faenfedai s gfqwrsti @ faem ergiE ¥

o Qo1 feres wioem A R gwdi s s wwa s gwI
(1) et 9 3fEd &9 H TR T wan wiver s &1 Swi cF |
(2) 38 Rewl #FEmy 9 )

(3) WEINTt TG AT W

(4) U % STgera feRarRey ST

TLHLILE. ®1 ol.Te. TeUhA Ht Tl 2014 H Frfafas § ¥ e w e fom
(1) SRA. (Y T

(2) SMEHLE (YET AR HI90 ToheATeR)

(3) A (I TEY)

@) HA (S qERD)
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PART-B
SECTION-V (i) : SCIENCE

81. According to laws of refracation (i=Angle of incidence, r=Angle of refraction) :
(1) 1 —constant (2) E =constt
r sinr
(3) sini=sinr (4) iand r are not related
82. For photosynthesis, the green plant needs :
(1) CO, (2) light (3) chlorophyll (4) All of these
83. In aquatic plant Hydrilla, stomata are :
(1) Present on leaves (2) Present on stem
(3) Present on roots (4) Absent
84. Convex mirror can from :
(1) Only real image
(2) Only virtual image
(3) Both real as well as virtual images
(4) Only magnified images
85. The unit of Pressure is :
(1) Newton (2) Newton per sq.m
(3) Persqm (4) Joule
86. Poliois:
(1) Food borne disease (2) Water borne disease
(3) Air borne disease (4) None of the above
87. Two wires A and B are made of the same metal and are of equal lengths but their diameters
are in the ratio 1 : 2. Their resistances R, and Ry have the ratio :
(1) 1:4 2 1:2 3) 2:1 4 4:1
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HAT-9

@ug -V (i) : fagm

81. SIYH & 190 & STER (i= 3T Y, 1 = (Y FH107)
1) L = feriw @ SN _ o e
r sinr
(3)  sini=sinr 4) iU r oIH H Heifyg 7 §
82. WY HIINY ¥ U T WY 1 o1 1 Sfrervarrar 2 ©
(1) Cco, (2) WEW (3) FARIEA (4) StdFa qeft
83. wioilg WY eEfgen § @Wie .
(1) ufedi waaE 2 TWIE
(3) e W@ ® (4) STufeed B §
84. 31 gUU GRI 99 T ¥ :
(1) Faa arafas wfafama
(2) FHaA Tt yfafe
(3) TEafae Td MW ST YR & wlafa
(4) Faa syrafda wfafes
85. T& I THE ¥ :
(1) = (2) =g wfa = e
(3) wfd =t W 4)
86. @A (Polio) ¥ :
1) 9 9 e Tl SR (2) v & ¥ Frel sEd
(3) g H e areft st (4) Sdw H B T
87. AR ATUIBTH & ¥Ig F o g3 71 U & o & ¥ O 9 AW 1 2 F U § ¥ o
Hiadl R, a9 Ry H Heler BT
1) 1:4 2 1:2 B) 2:1 4) 4:1
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88.

89.

90.

91.

92.

93.

According to Einstein the Energy (E) Mass (M) and Velocity of light (C) are related by the
equation :

(1) E=MxC (2) E=MC? (3) E=M+C2 4) E+M=C

Plant cell can do :
(1) Breathing and Respiration (2) Respiration and Photosynthesis
(3) Breathing and Photosynthesis (4) All of these

The wave length of X - rays is smaller than that of visible light and :
(1) Its speed is more than that of visible light

(2) Its frequency is more than that of visible light
(3) Its speed is less than that of visible light

(4) lts frequency is less than that of visible light

The two colours seen at the extreme ends of the pH chart are :

(1) Redand Blue (2) Redand Green (3) Greenandblue (4) Yellow and green

HlIVisa:
(1) Disease (2) Vaccine (3) Virus (4) Injection

A body is weighed in several liquids of relative densities 1.1, 1.2, 1.3 and 1.4. Its weight will
be the least in the liquid of relative density :

1 11 2 12 3 1.3 4) 1.4
94. A concave lens produces :
(1) Virtual image (2) Diminished image
(3) Erect image (4) All of these
95. When two wires of resistances 2 Ohms and 1 Ohm respectively are joined in parallel, their
equivalent resistance is :
(1) <10hm (2) 1 Ohm (3) 2 Ohm (4) >2O0hm
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88.

89.

90.

91.

92.

93.

94.

95.

m@ﬂq%ww(&%ﬁrm@fw%éﬂqﬁﬁmﬁu%:
(1) E=MxC (2) E=MC2 B) E=M+C2 (4 E+M=cC

el =t RIS et R g §
(1) W9 O (Breathing) @ €W (2) Vored TS Weher Teorow
(3) WY AN T TR YT 4) Sudsd wf

X - ftol st e g T S A e YT
(1) 91 A7 39 Y & o Q 1y &

2) TUHI G 393 FHM w1 ghy | e €

(3) THH! AT TEW R I A HA T

(4) THH IR ¥ VW W ImEfd F wH

ey

pHHﬁ%ﬁﬁquﬁ@ﬁmﬁW%:
(1) T () MWW () WEAW  (4) GenmE

HIVE:
(1) UTF o (2) T A (3) foremy (4) TF oA

T I I 3 2ol A dien S & FTh ST T S 11,12,1.3 T 14
HTIfEF T & g9 H e %9 A R

O 1.1 @ 1.2 3) 1.3 4 14

T a0 A9 11 YR & whafens s &
(1) 3Tt wfafera (2) B vfafes
(3) tun wfafemm 4) 3S9gw @+t yER ¥ yiafe

?TFq'zohmaanlomuﬁﬁuméﬁmmmﬁaﬁgﬁﬁaﬁﬁrmgwuﬁﬁu@m:
(1) <1Ohm (2) 1Ohm (3) 2 Ohm (4) >2Ohm
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96.

97.

98.

99.

100.

If red litmus is added to acetic acid solution :

(1) It changes to green (2) It becomes blue

(3) It remains red (4) It becomes colourless

Ultimate main source of energy on the earth is :

(1) Coal (2) Fossiloil (3)

The Commercial unit of electric energy is :

(1) Horse Power  (2) Killo Watt Hour (3)

Destruction of forests have resulted in :
(1) Shortage of Rain

(2) Shortage of Natural Resources

(3) Danger to the lives of wild animais and birds

(4) All of the above

Use of Chlorofluorocarbons :

(1) Strengthnes Ozone layer in the atmosphere
(2) Depletes Ozone layer

(3) Does not affect ozone layer

(4) Is not a harmful
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96. It ot forewg wfafes tfae 9ia ¥ 2on ol 9
(1) TEBUR TR (2) IE Hen & SR
(3) FE A W@ 4) TRIEE DA

97. et W el o A T e ¥
1) e (2) wewg aa @ T (4) =g

98. foera St =t =i T ¥ -

(1) wE TR @ Mg (@) = (@) =EdEa

99. = & HIE T TROTH g3 L
(1) =t & w0
() TR dEEE w5
(3) el g TR % e = v
(4) 9= W

100. FARTAHTS HT ITAT ;
(1) JFAUSH § S Wd B Y58 HET &
) SM WA F wErw
3) T IE B wenfaa &

(4) JHEE TEF TS
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PART-B
SECTION-V (ii) : MATHEMATICS

101. The Value of sin60°cos30° +sin30°cos60° is :
1

o 3 @ 1 ® -1 @ 2
102. The value of 9 sec?A —9 tan?A is :

1 o 2 1 ®) 8 4 9
103. From the top of a 7 m high building, the angle of elevation of the top of a cable tower is 60°

and angle of depression of its foot is 45°. The height of tower is :

M 5(B+)m @ 5(B-)m @ 7(BE-Um @ 7(3+m
104. The sum of odd numbers between 0 and 50 is :

(1) 425 (2) 525 (3) 625 4) 725
105. The value of el X 22 X o4 is:

3 5 V256
1 21 (2) 28 (3) 48 4) 84
% 37
106. The value of 6——X—£ is:
3.6
6

(1) 6 (2) 36 (3) 216 4) 18
107. A jar contains 24 marbles, Some are green and others are blue. If a marble is drawn at

random from the jar, that the probability that it is green is —;— . The number of blue marbles in

the jar is :

1 4 2 6 3) 8 4) 10
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HOT-9

@usg -V (ii) : Ifora
101. sin60°cos30° + sin30°cos60° ST | BN :
1
®n 3 2 1 @) -1 4) 2
102. 9 sec2A —9 tan?A ST H1H BN :
1) o 2 1 () 8 @ 9
103. @71#.%ﬁm%mm@mﬁm%sﬁﬁmaﬁmw%ammmmww45°
Bl TR ST F Y
M s(B+)® @ 5(EB-DR @) A(BoDh @) 7(F+)Hh
104. 09 50 % o= 3 ferom i} =1 T &y
(1) 425 (2) 525 (B) 625 (4) 725
V441 V25 64 ,
105. == x = x\/ﬁmm%.
1) 21 (2) 28 (3) 48 (4) 84
6%x§’/6—7 .
106. Tmm%.
1) 6 2) 36 (B) 216 (4) 18
107. T SR 4 24 T %9 &1 $9 R ¥ o 9 ey I Agfesh w9 & T Ha1 T T AW H F
B T 2 8, o et A 3
1) 4 2 6 () 8 4 10
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108.

109.

110.

111.

112.

113.

114.

A die is thrown twice. The probability that 5 will come up at least one would be

25 11 5 10
= @ 6 = @

M 36 36 36

Sides of two similar triangles are in the ratio 4 : 9. Areas of these triangles would be in the
ratio

1) 2:3 2) 4:9 (3) 81:16 4) 1681

The wheels of a car are of diameter 80 cm each. The car runs ata speed of 66 km per hour for
10 minutes. The number of complete revolutions made by each wheel is __

(1) 2640 (2) 3960 (3) 4375 (4) 4875

Metallic spheres of radii 6 cm, 8 cm and 10 cm, respectively, are melted to form a single solid
sphere the radius of this sphere would be

(1) 8cm (2) 12 cm (3) 14 cm 4) 16 cm

The curved surface area of a right circular cylinder of height 14 cm is 88 cm?2. The diameter
of the base of cylinder is :

(1) 4cm 2y 3cm (3) 2cm 4 1lcm

A train which is 500 meter long crosses a 800 meter long platform in one minute five seconds.
The speed of the train is

(1) 55 km/hr (2) 65 km/hr (3) 70 km/hr (4) 72 km/hr

The ratio of fathers age to his son’s age is 7 : 3. The product of their ages is 756. The ratio of
their ages after 6 years will be :

1y 2:1 ) 5:2 @) 11:7 4) 13:9
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108. T G A AR HH 1| HH Y HH T AR 5 () 0w o
25 11 5 10
M 3 @ 3 @) 3% @ 3
109. < T s Y yonsii 1 s 49 EERERCIE R ECTo R o R B
1 2:3 (2 4:9 (3) 81:16 (4) 16:81
110. T &R F Y& UfET 1 =919 80 Q.. §) FR 10 foe 7 66 forwft. i s =) e & et
e UfET gRT TR TC Sk4 1 Gem it 2
(1) 2640 (2) 3960 (3) 4375 (4) 4875
111. 6 9., 8 A1, qen 10 Q.+, feen a1 Hifeaeh et 1 e T 39 ey s T A T
e gt -
(1) 8dq. (2) 129 (3) 14 9 (4) 16 Q..
112. 14 Q3. S o1 AR AT ol TohTehT ERTAeT St 88 o7t A, &1 3 Sef ¥ SMHR T =
& '
(1) 49 (2) 33T (3) 23T (4) 13
113. 500 HI. Tl T YS!, 800 . o @ewH #1114, 59, § IR et 3 TSt @ i ¥
(1) 55 f. /4. (2) 65 fe.st/=. (3) 70 fe.A. /4. (4) 72 fws/H
114. TQ-T9 %1 31 1 30 7:3 ¥1 T 1Y H OFEA 756 2 6 Y SIE ITH Y 1 S
B
1 2:1 () 5:2 @) 11:7 4 13:9
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115. Two numbers are in the ratio of 7 : 4. If 12 is added to the smaller number, The ratio becomes
7 . 5, the bigger number is _.
Ly 77 (2) 84 (3) 91 (4) 98

116. In order to pass an examination, a minimum of 33% marks are required. A candidate
obtaining 210 marks fails by 21 marks. The total marks for examination was _____ .
(Iy 700 (2)y 600 (3) 550 4) 500

117. A shopkeeper has marked selling price 20% above the cost price and allows some discount to
the customers, the profit he earns is 8%. The rate of discountis ____
(1) 5% (2) 6% (3) 10% (4) 12%

118. A conical fent 14 meter in diameter and 4.5 meter high is to be eracted with lateral side
6 meter in length the cloth required will be
(1) 108 m? 2y 132 m- (3) 224 m? (4) 2064 m?2

119. Two sides of triangle are 8 cm and 11 cm and the perimeter is 32 cm. Its area is__ .
(1) 3J40 cm? (2) 5J4R cm? (3) 830 cm? (4) 50 cm?

120. The length of a tangent from a point A at a distance of 5 cm from the center of the circle is
4 cm. The radius of the circleis _
(1) 2cm (2) 3cm (3) 4cm (4) 45wm

B.Ed./2017 42

L
gcollegedunlas
India’s largest Student Review Platform



115.

116.

117.

118.

119.

T HF 7: 4% I F At B 7 F 12 gt I A 3179 7: 5 8 S &, 5 ween

Q77 2) 84 B) 91 4) 98

fereit e =it efiol & & ferw =gaw 33% o7 =fw | e foemeft =01 210 375 gy 3R 9% 21 i
Y STRAl B T when & oA 7F F

1) 700 2) 600 3) 550 (4) 500

wwﬁmaﬁwﬁmw,mwﬁzo%afwr@ammﬁwzgmaﬁl
WA F AN A G HF TE |

1) 5% 2 6% @) 10% 4) 12%

T VIR T 1 oA 14 . qe1 S 4.5 7. & iR ured Y 6 7, & &2 % e srrerere e
e :

(1) 108 =t . (2) 132 =0t A (3) 224 =t A, (4) 264 T .

T P 1 1 ogomd 8 . qen 11 A, ¥, ok ufterg 32 4.5, T STHET 1 BN ?

(D) 3Ja0 FAA (2) sy AR (3) 30 T A, (4) 50a |

120. TH 90 % &= ¥ 5 4.7, 3¢ feord 0 o e ) forg A @ o 4 20 3 A&
(1) 294 (2) 39 (@) 49 (4) 459,
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PART-B
SECTION-V (iii) : SOCIAL SCIENCE

121. Who was the last ruler of Sayyid Dynasty ?
(1) Mubarak Shah (2) Muhammad Shah
(3)  Amir Khusrau (4) Alam Shah

122. Which Article of the constitution abolishes untouchability ?
(1) Article 16 (2) Article 22 (3) Article 29 (4)

123. What is the deepest point on the earth ?
(1) Java Trench (2) Puerto Rice (3) Mariana Trench (4)

124. What is the currency of Malaysia ?
(1) Dollar (2) Pesco (3) Ringgit (4)

125. Who wrote the play Malavikagni mitra ?
(1) Vishakhadutta (2) Kalidasa (3) Kanishka 4)

126. Who established the regional party Shiv Sena ?
(1) Devendra Fadnavis (2) Bal Thackeray
(3) Sharad Yadav (4)  Sushil Kumar Modi

127. Which country came under the influence of the Hudhud Cyclone ?
{1} Indonesia (2) Singapore (3) Malaysia (4)

128. Who is the Chairman of the Niti Ayog of India ?
(1) President (2)  Vice President (3) Prime minister (4)

129. Which of the following taxes is a progressive tax ?
(1) Income tax (2) Custom tax (3) Sales tax 4)

136. What is the currency of Bhutan ?
(1) Rupee (2) Dinar (3) Taka 4)
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121.

122.

WAT-§
@ug - V (iii) : ArTtes faqme

=g 991 1 AfqH wEE *iF 41 ?

(1) YRF e (2) WiemE g
(3) SR GgER (4) ST WE
ST Y G HA & o Giaum™ & w1 @ snféena 2

1) enféwa 16 ) anféwa 22 (@) euféwa 29

123. 9@ W a9 TN foig -1 R 2

(1) e (2 T T (3) e =
124. TR S g RN R?

1) T’ (2) = @) fafre
125. e Arafaehitae fwgs gr foran w2

1) foemEmEm (2) HIEle™ () TR
126. &g Ut ‘e 91’ 6t T fRash gry ol e ?

(1) E HEUEY (2) = I

@) < I=A 4) RIS FIR O
127. TEES ThAG ¥ -1 9 JfEa gam o ?

1) =i (2) famR (@) wfmn
128. wRd H fafq ST & sreaet wiF ®2

(1) Tgafd (2) 39 Tl @) wuH Hsh
129. frafafeaa § 4 SR-TTg gsn = &2

1) sF (2) HEH T (@) fesr ==
130. S &I &1 HhHE-W &2

(1) F@ (2) fEwr (3) TH
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131. Who wrote the famous Tamil literary work Kalingattuparani ?
(1) Kalladanar (2) Amarbhujanga
(3) Gangaikanda (4) Jayagondan
132. Who wrote the Famous work Surya Siddhanta ?
(1) Varahamihira (2) Aryabhatta
(3) Vriddha - Vagabhatta (4) Meghaduta
133. How much is the security deposit for Lok Sabha election?
(1) ¥ 25,000 (2) 50,000 (3) ¥ 10,000 (4) 5,000
134. Who was the First Female President of Indian National Congress ?
(1) Sarojini Naidu (2) Indira Gandhi
(3) Pratibha Patil (4) Rajkumari Amrit Kaur
135. Who is the present governor of the Reserve Bank of India ?
(1) Raghuram Rajan (2 Manmahon Singh
(3) Arun Jetly (4) Rajnath Singh
136. Which gas was released during the Bhopal Gas Tragedy ?
(1) Methane (2) Methyl Isocyanate
(3) Acetylene (4) Ammonia
137. When was IGNOU established ?
(1) 1971 (2) 1977 (3) 1985 (4) 1989
138. Through which ocean is most of the world trade carried out.
(1) Pacific Ocean (2) Arctic Ocean
(3) Atlantic Ocean (4) Indian Ocean
139. Which is the third largest country in the world ?
(1) Canada (2) United States of America
(3) China (4) Brazil
140. Which certificate indicates a guarantee of quality for agricultural food products like ghee,
honey, etc. ?
(1) IsI (2) Agmark (3) BIS (4) DPT
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175. ST3ufeer o | form 3owmt 1 welim gam & 2

1) 3 (2) & @) = (4) e
176. 37 3yof €

1) 2333 2) 9,9 9% B 9 EEY 4 9,399
177. 3791 & IS wga fore firen’ qerat &1 oref &

(1) pEargel e FHe (2) HTSIE Vg B

(3) HAAM A (4) SESal wE wE
178. WaH ¥ :

(1) < Hfy 2) ofg dfu (3) o gy 4) T gfy
179. SRS ® :

(1) sifusor qegen (2) AIEH TqYEY

(3) R qgey (4) HIH FogEy
180. ‘HI3T =Tl €9 I A’ R F HG T

(1) e g2 =afem gR 3= =aer 1 Weul 3

(2)  HIST =T BT

(3) W =fa gRT ARt FT Yeu

4) FT-WH I TN

-00o0-
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147. (1) Hygeine (2) Higeine (3) Hygiene
148. (1) Harrassment (2) Harasment (3) Harrasment
149. (1) Spontanity (2) Spontaneity (3) Spontaniety
150. (1) Museam (2) Muzeum (3) Museum

Directions (Q.Nos. 151-154) :

Choose the word which is opposite in meaning to the underlined word,
151. The culprit acknowledged his guilt.

(1) Accepted (2) Avoided (3) Repulsed
152. Though an amateur, he is a first class player.

(I) Renowned (2) Seasoned (3) Professional
153. The initial estimate of the project was very high.

(1) Final (2) Full (3) Total
154. She found his behaviour towards her distinctly hostile.

(1) Graceful (2) Friendly (3) Cheerful
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Directions (Q.Nos. 155 and 156) :

Select the word in each group which does not properly belong to it.

155. (1) Conspicuous  (2) Conscript (3) Clear (4) Visible
156. (1) Perfection (2) Reflection (3) Inspection (4) | Retrospection
Directions (Q.Nos. 157-160) :
Pick out the most appropriate word from the given alternatives to fill in the blank to complete the
sentence.
157. We __ trouble on our borders.
(1) Comprehend (2) Apprehend (3) Supplement (4) Complement
158. The police the mob.
(1) Scattered (2) Disbanded (3) Drove (4) Dispersed
159. His tutor went endless trouble to prepare him the test.
(1) over: before (2) over:against (3) through:in (4) through : for
160. He went the room and sat down the sofa.
(1) to:in (2) into:on (3) from : upto (4) in:on
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-
Qus-Vv (v) : &t

e (weT qE=AT161 / 165 ) -
WWWWWW%WWZ@WW%WW/

“gmmmﬁﬁ,mmmaﬁﬁﬁwamﬁ%@mﬁ%l TAH S FHHSIRE!
%‘,%ﬂﬁﬁmmﬁﬁ@%éﬁmwwmm%aﬂxwmw,wmm
WWW@WW%W@WHWWW@W@W@@,%%M
Wmﬁﬁwﬁm”éﬁaﬁwmaﬁmﬁw%l S @ e ot 39 fher B wa & fw
Tt T8 STl S 1 X et afersr o7 WS o | THI &0 WY-Fh R @ A @ E
TS 918 F ¥, IS % I Yaq ¥, forgr F =mem g § ok arfee w7 stma v ¥

TR W S st e ar Feha ok I ae @ S A w &l = Wed-0w &, et
I fergfa €, el wusiEr wef @ gt §2 9 & @ sneferes e € oit art wEeiRa! s e ¥
7 fiet storan gfva iem % fiem @ a1 ot B HAFR T T<d ®T Y I e & ek 9 9
ST | SHHT TH 1, Th Ve, TH Hehd 39 TWE TN 3T 1 a1 & FoF TR 379207 Waiford & sl
7 mmwmmﬁzﬁ—ﬁwﬁmm?aaﬁ?wﬁmmwm@mﬁm?a‘éﬁs
TH TR HY T el § 2

161. SUY T % AT Q EF  WSH P 177 T 2
(1) YAF T & HHSIREr (2) T&F T TSR
3) Wit w@res @) e H 3w e

162. TREF % ATHR T, YSN-U13 HT, SARAN T 3R Wifee 1 AT HTH T YT 299 1§ 7
1) frafo wig (2) ST HESHTE F R H TS 7T T
(3) WA qh (4) 9TEE S

163. TR & HTER TAR AR SHSET 1 HRO 77 22
1) Fm R Hy (2) v iR AR
(3) FoA IR InvE | Sfaa 2 @) SEF A QA FE T

164. TEF & TIER MeAfers o o7 &2

1) (2) g SR Syam™m
(3) SR Ty (4) WE=H GAN g AT
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165. orE® F TER 89 HThR § F1 T 8l €2
(1) HARSH (2) 3HT IR ;AR
(3) AT el (4) dred w1 oy 3R S T 3w

AT (w9 TEAT 166 - 180 ) :
frfafEs GeF 599 % 9R-9R faweq fod 13 &1 37 @ wet fawey gAYl

166. =T T TEH K T

(1) 3T 2) 3T (3) T @) 3%
167. Sfaeor d qHE ¥

(1) rAFIIE (2) FHURE (3) TN (4) T8
168. IEET W WU T :

(1) < (2) T @) I @ d9fs
169. HHA § Y& T -

1 =@ 2) 9 () = @4) fa=

170. T8 ¥ FH-T1 W ST 1 YFEEE ©
1) foeu (2) #H 3 = (4) R

171. TEd w1 o ®
1) =d ) T 3) = (4) TR

172, 1 TCET HT STeRH- 4R STER 7 el !
Iyl TEY H STER ©

(1) ®uh ) F9® (3) UM (4) 3

173. ‘w4 2a e P 9@ e dem A afer ' 5 R

(1) =@ 2) B () < @) "I
174, ‘GOSN SISO’ F WA T

1) =y e (2) wierwg () TS (4) TR
B.Ed./ 2017 52

.
@collegedunlas
India’s largest Student Review Platform

-~



131. &g afa aifscrs o™ sfemgurr feras g/ fea w2
1) FHEEEAR (2) ST
(3) el (4) wETIREM
132. i wifecas wd @i fagr forass gra e man ?
(1) =R (2) v
(@) IS armHg (4) WugE
133. & w1 frafem &t adum geen s ol fea €2
(1) T 25,000 (2) 50,000 (3) % 10,000 (4) ¥ 5,000
134, 9RGATT U ST Tt G99 Afgel sreae :9 o ?
1) TS g (2) sf<a e
@) ufaw wifea (4) TSHFAN T SR
135. foid S 3w foear & adum W o9 §2
(1) gUHTSHA (2 wEEA fEE
(3)  STTU S 4) Ty fHg
136. iUl 19 6 % SRA HH-w T w1 e gen @2
(1) A ) fouga smwEmRA
(3) wEdfem | (4) st
137. IGNOU (F) ! T &l g ?
(1) 1971 (2) 1977 (3) 1985 (4) 1989
138. fava & HH-¥ TREFR ¥ Tel iy =agR faran s &2
(1) SeId HEEFR (2) oThfeH TREIR
(3) Aedifeh HEEIR 4) fe<TRmEMR
139. fava ¥ dau 999 w9 W wAE-T1 ¥ ?
(1) FA1ST (2) HIF T M
(3) = (4) TSI
140. Ffvwf@ @m el I9 =, W sefs i [oEe % yHeE & R aHE o i s e 22
(1) IE.TH.TR. (2) wmE (3) st 4 <9
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PART-B
SECTION-V (iv) : ENGLISH

Directions (Q.Nos. 141 to 145) :

Choose the word that is nearest in meaning to the underlined word.

141. A good dictionary is indispensable for learning a language.
(1) Desirable (2) Helpful (3) Valuable (4) Essential
142. The police have succeeded in arresting Rajiv’s assassin .
(1)  Opponent (2) Enemy (3) Murderer (4) Rival
143. Grandmother suffers from chronic arthritis.
(1) Of long duration (2) Painful
(3) Occasional (4) Symptomatic
144. Radha is an able lent diffident student.
(1) Difficult (2) Shy and meek (3) Confused (4) Confident
145. His judicious handling of the matter saved the situation from going out of control.
(1) Reasonable (2)  Amicable (3) Cautious (4) Nervous
Directions (Q.Nos. 146-150) :
In each of the following group of words, only one word is correctly spelt. Select the word with the
correct spelling.
146. (1) Reminesent (2) Reminescent (3) Reminisent (4) Reminiscent
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